%

2000

e

> |« gl

: 25% S5k
98% I 30%
2 2 | 15%
2 | 40%
~
( | 1004 |
|
| T
| )‘1] 100% |
i1k 97 1004 10%
100% |
0% 2 0 | 90% 20 26,500
: A N 2 050 LA EEEEEEEEEEEEEEE RN
'I- 3 204
L | L | L | L | L | L | L | L | LY o o
i : 100% % o 5% JR T
3 60% | I o 95% 52,600 o ‘;ll 75% 1
l b O OO OOOOOLOOOLOLOLOOLOOLOOLOLOLOLOLOOLOEOLOEOS
|
| : - . > N
97 40% 1
| ! ' It 100% 5% 10%
lgmmm e e e T
* 95k ss ";II 54 |
|
l g
| ™ 55%
: 0% 30%
| 15%
|
l g
l ............. 100% :
l O OO OOOOOLOOLOLOLOLOLOLOOLOOOGONOSS
|
| 100% 25
l T
P 0 ) SSPPSS of To0% |
T
LPG : 100%!
T
89% 1 LPG | ;o 100%
| Lol 6 \:l LPG P 40%
: 1% 1 | LPSGS% LPG 15%
l : ib......M@.................i. 10%
i 3 1900 o
X esosoo00s6000004° | H
: Loy (id ;.I a5 !
I 27500
LPG
| 10%
LNG ¥ - \ o > 40%
-
97% ! 237 25%
: 2 | |
1
3% 20 10 | “1
|
'~ — -
35% | 7%
3%
20% 2%
LPG 2% o T
70% “1 0%




